
 

                                                 

 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1) Knowing that at the instant shown the angular velocity of rod DE is 2.4 rad/s clockwise, determine 

(a) the velocity of collar A, (b) the velocity of point B.  (Answer: 𝒗𝑨 = 𝟓𝟒𝟎 𝒎𝒎/𝒔,                                    

𝒗𝑩 = 𝟒𝟓𝟕 𝒎𝒎/𝒔 ) 

2)  ) 
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2) A 60-mm-radius drum is rigidly attached to a 100-mm-radius drum as shown. One of the drums rolls 

without sliding on the surface shown, and a cord is wound around the other drum. Knowing that end E of the 

cord is pulled to the left with a velocity of 120 mm/s, determine (a) the angular velocity of the drums, (b) the 

velocity of the center of the drums, (c) the length of cord wound or unwound per second.                            

(Answer:  𝝎 = 𝟑𝒓𝒂𝒅/𝒔, 𝒗𝑨 = 𝟑𝟎𝟎 𝒎𝒎/𝒔 , 𝟏𝟖𝟎 𝒎𝒎) 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3) Knowing that at the instant shown bar AB has an angular velocity of 10 rad/s clockwise and it is slowing 

down at a rate of 2 rad/s2, determine the angular accelerations of bar BD and bar DE.                                       

(Answer: 𝜶𝑩𝑫 = 𝟑𝟎𝟔 𝒓𝒂𝒅/𝒔𝟐,  𝜶𝑫𝑬 = 𝟕𝟑𝟕 𝒓𝒂𝒅/𝒔𝟐 )                                  

 

 

 

 

 

 

 

 

4) A 9-kg uniform disk is attached to the 5-kg slender rod AB by means of frictionless pins at B and C. The 

assembly rotates in a vertical plane under the combined effect of gravity and of a couple M which is applied 

to rod AB. Knowing that at the instant shown the assembly has an angular velocity of 6 rad/s and an angular 

acceleration of 25 rad/s2, both counterclockwise, determine (a) the couple M, (b) the force exerted by pin C 

on member AB. (Answer: 𝑴 = 𝟗𝟗. 𝟒 𝑵𝒎, 𝑻𝑪 = 𝟑𝟎 𝑵)  

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

HOMEWORK HOURS 

 
𝐀𝐬𝐬𝐨𝐜. 𝐏𝐫𝐨𝐟. 𝐙𝐚𝐟𝐞𝐫 𝐊Ü𝐓ÜĞ (𝐆𝐑𝐎𝐔𝐏: 𝟐) 𝟐𝟓. 𝟏𝟐. 𝟐𝟎𝟏𝟖      𝟏𝟎: 𝟑𝟎 −  𝟏𝟒: 𝟑𝟎

𝐀𝐬𝐬𝐨𝐜. 𝐏𝐫𝐨𝐟. 𝐌𝐮𝐫𝐚𝐭 𝐀𝐋𝐓𝐄𝐊İ𝐍 (𝐆𝐑𝐎𝐔𝐏: 𝟑)𝟐𝟓. 𝟏𝟐. 𝟐𝟎𝟏𝟖      𝟏𝟎: 𝟑𝟎 −  𝟏𝟒: 𝟑𝟎
} ⟹ Res. Assist. Yurdakul AYGÖRMEZ

Room: 2 − 030
 

 

𝐀𝐬𝐬𝐢𝐬𝐭. 𝐏𝐫𝐨𝐟. Ç𝐚ğ𝐫ı 𝐌𝐎𝐋𝐋𝐀𝐌𝐀𝐇𝐌𝐔𝐓𝐎Ğ𝐋𝐔 (𝐆𝐑𝐎𝐔𝐏: 𝟏) 𝟐𝟔. 𝟏𝟐. 𝟐𝟎𝟏𝟖      𝟏𝟎: 𝟑𝟎 −  𝟏𝟒: 𝟑𝟎

𝐀𝐬𝐬𝐢𝐬𝐭. 𝐏𝐫𝐨𝐟. 𝐘ı𝐥𝐝ı𝐫ı𝐦 𝐒𝐞𝐫𝐡𝐚𝐭 𝐄𝐑𝐃𝐎Ğ𝐀𝐍 (𝐆𝐑𝐎𝐔𝐏: 𝟒)    𝟐𝟔. 𝟏𝟐. 𝟐𝟎𝟏𝟖      𝟏𝟎: 𝟑𝟎 −  𝟏𝟒: 𝟑𝟎
}  ⟹  Res. Assist. Yurdakul AYGÖRMEZ

Room: 2 − 030
 

NOTE: Homeworks will be delivered by hand. 

 

 

 

 

 

 

 

 

 

 

 

5) A uniform thin plate ABCD has a mass of 8 kg and is held in position by three inextensible cords AE, BF, 

and CG. If cord AE is cut, determine at that instant (a) if the plate is undergoing translation or general plane 

motion, (b) the tension in cords BF and CG. (Answer: 𝑻𝑩𝑭 = 𝟔𝟓. 𝟐 𝑵, 𝑻𝑪𝑮 = 𝟎) 

 


